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The Test Booklet contains 150 questions. Each question carries two marks.
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The Question Paper is set in English and translated into Telugu language. The Enghsh version
will be considered as the authentic version for valuation purpose.

(BHD(SE0 20208° SorSHTobad Bk erdSt s SGdr FovdDa. Hdreed HEd arerg
T oxwddch aoﬁo}o NI L@béﬁﬁ%é»m BoSSedhoid.

The Test Booklet is printed in four (4) Series, viz. m..@ The Senes m or . or n or
@ is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Baoklet Series mor.or-or@m Part C on side 2 of the Answer Sheet by darkening the
appropriate circle with HB Pencil.

[3%), H|$dn Troord HEdweod® (Series) odm c] (D] z,scszs»oess So|BoSdds. &
SEwern |A [A] = [B] m&) [c] 2 [D] ™ t”%‘l oJLégDJJ Sy EHSH e HABH Jwrod®
20[B0TBS8. WEDYS (D) DS Gy Hdw (Series) ™ [B] o~ [c] md D] o
DHreed DEH Todd Y F§ C Hoh ©0HE DI T&rowoBadd HYFInd 8.0, DAYSE
S 8 JodIB.

Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :

_HONON0C,

If you have not marked the Test Booklet Series at Part C of side 2 of the Answer
Sheet or marked in a way that it leads to discrepancy in deltermining the exact
Test Booklet Series, then, in all such cases, your Answer Sheet will be invalidated
without any further notice. No correspondence will be entertained in the matter.

D (BF) IS o) SSwH  (Series) SSremS SSSw  IDEFYHS »E C &*
HdowEdoue S 68003 50’50) [_5-{15@5 ofé’o‘iv mogéﬁ.vm BeE WO DSBS
@0 AN &I edwSods @QJ ‘oodoz)sivvé‘ D dwSod? Stnd arbd JabHoaedS
SSTTS S|S0 aaf?aoamdda (mvahdated) EID 800 ddrSod? & S(SSoge SSven

2205208809,



(2) LJ/80%
Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than
one circle is darkened, the answer will not be valued at all. Use HB Pencil. to make heavy black
marks to fill the circle completely. Make no other stray marks.
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Mark Paper Code and Roll No. as given in the Hall Ticket with HB Pencil. by darkening
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will lead to
invalidation of your Answer Sheet.
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11.

To change an answer, erase completely the already darkened circle and use HB pencil to make
fresh mark.
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The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
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(4)

Which is called unit elasticity of demand
among these elasticities ?

(1) 2/3
2 4
3 1
4) 0

Who propounded the Marginal Productivity

. Theory of Distribution ?

(1) Adam Smith

@ J.8. Mill

(3) J.H. Von Thunen
(4) A. Marshall

Which one of the characteristics is not the
same for rent and quasi-rent ?

(1) Surplus earnings
(2) Rent out of man-made factors
(8) Arise due to rise in demand for corn

(4) Inelastic supply of factors

Wages paid for specific work to the labourer
is called

(1) Cash wages
(2) Piece wages
(3) Money wages
(4) Real wages

Who explained Subsistence Theory of
Wages ?

(1) German Historical school
(2) 'Neo-Classical school

(3) Classical school

(4) Marginalist school

6.

10.

- LJ/805°

-

Who said “Interest is a reward for parting

with li(iuidity for a specific period” ?
(1) Alfred Marshall

(2) J.M. Keynes

(3) Joaﬁ Robinson

(4) Cairncross

Who propounded innovation theory of profit ?
(1) A. Marshall

(2) J.M. Keynes

(3) J.A. Schlimpetér

(4) Robertson

Which is the central bank of India ?
(1) Reserve Bank of India

(2) Central Bank of India

(3) State Bank of India

(4) Bank of India

When was the RBI established ?

(1) 1921
2) 1935
(3) 1947
(4) 1951

The most important function of a central
bank is

(1) Credit supply to the industry
(2) Loan to commercial banks
(8) Overdrafts to the State Governments

(4) Issue of currency notes
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11.

12,

13.

14.

15.

control "to correct adverse balance of
_payments.

(1) Pegging operation

(2) Quota

(3) Clearing agreement

(4) All of the above

(6)

This is one.of the quantitative credit control
measures of a central bank.

(1) Rationing of credit

(2) Open market operations
(3) Control of instalment purchasing
(4) Direct action on banks

Fixed exchange rate is good because

(1)

it promotes international trade

(2) it encourages international investment
(3) it prevents speculation
(4) it promotes stability in the economy

This is one of the direct methods of exchange

The main function‘ of IMF is

(1) to promote exchange stability

(2) to providé érants f'of development

(3) to provide long-term loahs to the
- industries

(4) to control the money supply of the

member countries

The liabilities of non-banking intermediaries |,

are regarded as

(1) Near money

(2) Private savings

(3) Institutional money
(4) Private money .

16.

17,

18.

19.

20.

-

L5’

Who propounded ~ ‘Net 7"Bar"févr Terrﬁs of”

Trade’? . .0 o

(1) J. Viner

(2) F. Taussig

(3) . A. Marshall

(4) G.S. Dorrance. -

Income terms of trade indicates - S Eb

(1) capacity of a country to import™ ~

(2) capacity of a country to éxport

(3) country’s exchange ‘sta:bility"

(4) country’s favourable balance  of
'~ payments

A UDC’s terms of trade is 4 with USA. In this "
case what is the terms of trade of USA with
that country ? ‘

1) 4
(2) 2
(3) 1/2
4) 14

This is one of the demerits of a direct tax.

(1) Equality of sacrifice

(2) Elasticity

- (3) Public‘ conlv’enie;_lc‘:é«

(4) Evasion of tax

Which one is non-tax reVeere.:? SO
(1) Corporation tax - .= .. °

(2) Foreign loan

(3) Foreign aid ... Lol

(4) Tax on cdmm‘odities.
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21.

22.

23.

24.

25.

(8).

The benefit principle of taxation indicates
that

(1) the tax payment should be based on the

direct benefits received from the
Government. '

(2) the taxpayer should pay tax for the
benefit of the general public.

(3) tax should be paid for the benefit of the
poor.

(4) a taxpayer should pay for the social

benefit.

Raja Chellaiah advocated this objective of
taxation for a developing country.

(1) Taxation according to ability

(2) Mobilisation of economic surpluses in
the economy

3) Growth of the economy

(4)

Reduction of inequalities

What is the index of ability to pay ?

(1) Property owned by the taxpayer

(2) Annual income earnings

(3) Annual expenditure incurred by the
taxpayer

(4) All of the above

“The total loss of utility as a result of tax
should be equal to all the taxpayers.” Which
specific principle indicates this ?

(1) Equal proportional sacrifice
2) Equal absolute sacrifice

(3) Equal marginal sacrifice

(4) Equal average sacrifice

When the tax rate decreases With the
increase in income, it is called as

(D
(2)
(3)
4)

Progressive tax
Proportional tax
Regressive tax

Normal taxation

26.

27.

28.

29.

30.

LJ/805S
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The most important economic argument in
favour of progressive tax is that

(1) there should be no tax evasion

(2) the operation of di.minishing utility of
money

(3) it encourages more production

(4) it enhances more welfare for the people

Commodity tax is preferable and justified
when it is imposed on a commodity produced
in an industry under

(1) increasing cost of production
(2) decreasing cost of production
(3) constant cost of production
(4) any one of the above

According to Dalton, the size of the National
Income depends upon

(1
(2)

education of the people

magnitude of unemployment in the
economy ‘

nature and magnitude of deficit
financing : '

(3)

4)

ability to work and save

The main principle of Public Expenditure is

(1)

it should promote social welfare

(2) it should attempt for equal distribution
of income’

(8) it should try for the economic stability
All of the above

(4)

When the Government imposes extra taxes
for the repayment of principal with the
interest it is known as

(1) Direct real burden

(2) Direct money burden
(3) Indirect money burden
(4) Indirect real burden
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31.

32.

33.

{10}

In National Income calculation, this is called
Inventory method :

(1) Addition of all income by way of wages,
interest, rent and profit '

(2) Market value of all goods.ana services
~ produced in a year

(3) Addition of expenditures of individuals,
_institutions and the Government in a
country

(4) Addition of value of all consumer and
durable goods by the consumers plus
savings

A country's G.D.P. is Rs. 50 .crores;
Depreciation Rs. 5 crores; Indirect Taxes
Rs. 10 crores; and Subsidies Rs. 5 crores.
What is Net National Income ?

(1) Rs. 25 crores
(2) Rs. 30 crores
(8) Rs. 40 crores
(4) Rs. 45 crores

Observe the table and find out which one is
Disposable Personal Income :

Particulars Rs. in crores
National income at faétor 10,000
cost
Undistributed profits 500
Corporate profit tax 300 .
Contribution to bills and 200
securities
Government Payments 300
Personal Taxes 200

(1) Rs. 11,500 crores

’(2) Rs. 11,000 crores

(3) Rs. 10,500 crores
(4) Rs. 8,500 crores

34.

35.

36.

37.

LJ/805

Which is an unproductive activity ?

(1) Professors teaching in the college
(2) Pension to the professqrs

(3) Nurse serving in the hospital

(4) A domestic servant cleaning master’s

car

In National Income accounting, when every

transaction is recorded both on credit and

debit side of the account, it is known as
(1) Matrix method _

(2) Circular flow method

(3) Double entry method

(4) Cost Accounting method

Which country is a closed economy ?

(1) India
(2) Russia
(3) Japan

(4) None of the above

Real National Income can be measured with
this formula :

[NI =
Index is the Index Number of the current

National Income at Current Price;

year]

1) Inlzix x 100
@ InI:Iiix

®3) Ii];:; 'x 100
@) NI

Population
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38.

39.

40.

41.

42.

(12)

The estimated G.N.P. growth rate during the
11_th Five Year Plan was

(1) 6 percent

(2) 7 percent

(3) 8 percent

(4) 9 percent

Who authored the book “The Affluent
Society” ?

(1) Myint

(2) Schumachex}

(3) J.K. Galbraith

(4) Nurkse

Amartya Sen was conferred with Nobel Prize |
in Economics for his contribution to

(1) Development Economics
(2) Welfare Economics

(3) International Trade

(4) Econometrics

Indicative planning refers to

(1) total control of the economy by the
Govt.

(2) total freedom for the private sector

(3) . the provision of economic projections
and voluntary guidelines

(4) planning of specific projects

‘Trickle down’ strategy implies

(1) higher G.N.P. taking care of poverty
reduction

(2) reduction in the incomes of the upper
class by redistributive measures

(3) emphasis on social service sector

- None of the above

(4)

43.

44,

45.

46.

47.
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The I.C.O.R. refers to

(1) Industrial Capital — Output Ratio
(2)  International Capital — Output Ratio
(3) Investment Capital — Output Ratio
4

Incremental Capital — Output Ratio

-Agricultural Holding Tax was recommended ‘

by |
(1) -Boothalingam Committee
2) i{aj Committee

(3) Wanchoo Committee

(4) Khusro Committee

Jawahar Rozgar ijana for rural employment
generation was launched in the year

(1) 1965
(2) 1979’
(3) 1989
(4) 1990

Which of the following is considered as a
sunrise industry ?

(1) Information and Technology
(2) Cotton Industry

(3) Rural Micro-entérprises

(4) - Oil industry -

The Sixth Plan estimated the proﬁortion
of population below the poverty line in
1979 — 80 to be about

(1) 41 percent
(2) 42 percent
(3) 48 percent
(4) 55 percent
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According to the 2001 census final population

figures, the sex ratio (females per 1000 |
males) in India is
(1) 932
933
(3). 934
935

Laws of Economics are compared with the
Laws of Tides by

(1) J.M. Keynes
(2) Seligman

(3). Alfred M‘arshall
(4) Lionel Robbins

The Stolper — Samuelson theorem postulates
that the imposition of a tariff by a nation
causes the income of the nation’s

(1) scarce factor to rise
2) | scarce factor to fall
- (3) ) abundant factor to rise
(4) scarce and abundant factors to rise

The concept of “unbalanced growth” has been
propounded by o

(1) Nurkse:

@ Hirschman

3) Leibenstein _
(4) Rosenstein-Rodan

Existence of an -adyance_d, _i_\mportedﬂwestern‘
system and an indigenous pre-capitalist
agricultural system refers to

(1) Socialism
(2) Social Dualism
(3) Social Development |

(4)

Economic Dualism -

53.°

54.

55.

56. _A'When price index mcreases from 125 to 150

" Gross investment tends to fall when -

17805

(17) sales are iﬁéreasihg at a_bln_ increasing
rate

(2) sales are increasing at a decreasing rate

(3) the rate of increase in siles remains
constant '

(4) ‘None of.the above

Neither G.N.P. nor N.N.P. takes account of

(1) depreciation -

(2) services produced

(3) social -cc‘)'sts of environmental pollution
(4)

All of the above

Methodologically Dr. V.K.R.V. ‘Rao made a
most important contribution to

(1) Welfare Economics

(2) Partial Equilibrium Anélysis
(3) National Income Account_iﬁg
(4) Social Choice Theory .

’ the value of money

(1) increases.by 25 percent -

(2) decreases by '2‘5-v"15e1:"’cen.t o
(8) increases by 20 percent
(4) decreases by 17: percent
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60.

~ Rs. 200 crores,
~ abroad is Rs. 20 crores,
" Rs. 20 crores and substitutes are Rs. 10

(16)

If Gross National Product at market prices is
net property income from
indirect taxes are

crores, what is G.D.P. at factor cost ?
(1) Rs. 200 crores
(2) Rs. 210 crores

(8) Rs. 220 crores

; (4) Rs. 230 crores

The largest contribution in value terms to
India’s G.N.P. is made by

(1) unorganised industries
(2) construction
(3) agriculture

(4) rural industries

A deflator is a technique of

(1) accounting for decline of G.N.P.

(2) adjusting for change in commodity

production
3) accounting for higher increase in G.N.P.

(4) adjusting for changes in price level

The stock of capltal goods in India is
influenced by

‘ (1) the pr1ce system :

(2)  the actlon of the Government
(3) both (1) and (2)

(4) neither (1) nor (2)

61.

62.

63.

64.

65. -

LJ/805

A deposit fund created in commercial banks;
so that the creditors can draw from 11: at the
time of need is called

(1) Consolidated Fund 7

(2) Floating Fund

(3) Sinking Fund
(4) Contingency Fund

Government redeeming debt through buy up
loans from the market is known as

(1) Repudiation of debt -
(2) Serial bond i'edemption
(3) Capital levy method

(4) Buying up loan method

This tax is levied by the Union Government
but collected and appropriated by the State.

(1) Stamp duty
(2) Income tax
(3) Death duty
(4) Wealth tax

Additional duty on these is collected By the
Union Government and wholly distributed to
the States. ’

(1) Mill-made textiles
(2)
(3) Tobacco

Sugar

(4) All of the ébove i_tems

Which Commission’s: recommendations are:
the basic guidelines for the distribution of
Central funds to the States ?

(1) Planning Commission
(2) Finance CommisSipn
3) Tax Reforrhs ‘Commissyion

(4) Taxation 4En§uiry Commission
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(18)

If deficit finance is used to import capital
goods and intermediary goods for
development it will be

(1) non-deflationary
(2) highly deflationary
(8) non-inflationary

(4) highly inflationary

When foreign demand for a country’s exports
is elastic, then devaluation of the currency

(1) increases exports earnings
(2) decreases exports earnings
(8) leads to no change in exports earnings

4) éncourages more imports

Government generally prefers to impose
excise duty on goods and services for more
revenue for which

(1) demand is price elastic
(2) demand is price inelastic
(3) demand is unit elastic y

(4) demand is perfectly inelastic

Which form of society did Jawaharlal Nehru
visualise in introducing mixed economy in
India ?

(1) Socialist society
(2) Communist society
(8) Socialist pattern of society

(4) Free-enterprise society

Which Industrial Policy first established the
mixed economy in India ?

(1) Industrial Policy — 1948
(2) Industrial Policy — 1956
3) Indﬁstrial Policy — 1973
(4) Industrial Policy — 1975

71.

72.

73.

74.

75.
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The main drawback of public enterprises in
India is -

(1) underutilisation of productive capacity
(2) over-employment

(3) over-capitalisation

(4) All of the above

When the rise in price level is alarming, it is

known as

(1) Creeping inflation
(2)  Running inflation
(3) Hyper inflation
4) Cosﬁ-Push inflation

The Sixth Five Year Plan estimated the
proportion of population below the poverty
line in 1979 — 80 to be about

(1) 41 percent
(2) 42 percent
(3) 48 percent
(4) 55 percent

Females per thousand males in Andhra
Pradesh, according to the 2001 Census, is

(1) 937

2 977
(3) 964
4 914

The New Economic Policy comprises
a.  Liberalization

b.  Privatisation

c.  Globalization

d. Industrialisation

(1) a, b and ¢ only

(2) 'a, b and d only

(3) b, cand d only

(4) a, c and d only
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From the plan periods, during which one has
National Income increased and per capita
income grown at a slower rate ?

' (1) Second Plan .

(2) Fifth Plan
(8) First Plan
4) Third Plan ’

Sustainable agricultural development refers
to

(1) commercial farming
(2) intensive farming
(3) eco-friendly farming

(4) extensive farming

Gross area under irrigation as a percentage

of gross sown area, in 1982 — 83, was
(1) 30 percent
(2) 28 percent
(f);) 24 percent
(4) ' 20 percent

In rural India, a large number of people are
subjected to

(1) open unemployment
(2) educated unemployment
(3) frictional unemployment

(4) disguised unemployment

The Green Revolution in India has resulted
in

(1) an increase in regional inequalities in |

food-grains production

(2) a decrease in regional inequalities in
food-grains production

(3) balanced regional development

(4) status quo in regional inequalities

81.

182.

83.

84.

85.

86.
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The strategyfor poverty alleviation in India

- lays emphasis on

(1) growth in national income
(2) employment and income generatxon
3) redlstrlbutxon of income

(4) growth in per capita income

In the production of sugar, India’s position in
the world is

(1) Fourth
(2) Third
(3) Fifth

(4) Seventh

In which year was the Green Revolution
introduced in the State of Andhra Pradesh ?

(1) 1965
(2)° 1966
(3) 1967
(4) 1968

As per 2001 census data, in which district of
Andhra Pradesh was the HDI in the first
place ?

(1) Visakhapatnam
(2) Hyderabad '
(3) Medak

(4) Guntur

By 2004 - 05 the percentage of poverty in
AP. was

(1 19
(2) 15
3) 12
(4) 25

The targetted annual growth rate during the
11* Five Year Plan in A.P. is

1 7%
2) 8%
@) 9%

4) 10%
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How much was allocated to Social Sector for {91.
AP. State during the 11'*® Five Year Plan
period ?
1) 15%
(2) 20%
(3) 30%
4) 40% 92.
In A.P. the following will act as nodal agency
for Special Economic Zones :
(1) A.P. State Finance Corporation
(2) A.P. Industrial Infrastructure
Corporation

: 93.

(3) A.P. Small Industrial Development
Corporation

(4) A.P. State Trading Corporation
Which district in Andhra Pradesh State has
the highest per capita income ?
(1) Visakhapatnam
(2) Hyderabad 9.
(3) * Guntur
(4) Krishna
The population growth rate in Andhra
Pradesh State during 1991 — 2001 was
1) 2-4% 95.
(2) 13%
3) 45%
4) 42%

@)

LJ/805

Which is called price demand function ?

(1 Q=f(P)
2 Q=f()
(3) Q+f(P,P)
4) Q+F(¥,P)

Marshallian demand curve is downward

sloping because of

(1) law of equi-mafginal utility

(2) law of diminishing marginal utility
law of supply

(4) law of consumer’s surplus

Changes in the quantity demanded means

(i) quantity changes at different prices

(2) no change in the demand schedulé

(3) quantity demanded changes at the same
price

4) quantity demanded changes with price

Who said that ‘Economics is the study of
wealth’ ?

(1) Karl Marx

(2) Alfred Marshall
(3) David Ricardo
(4) Adam Smith

Utility is a  psychological concept which
depends upon

(1) usefulness of the commodity
(2) nature of the commodity

3) Subjective conception

(4) quantity of the commodity -
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96.

97.

98.

99.

100.

(1) zero
© (2) negative
(38) positive
"(4) constant

(1)  the average utility curve remains below
it

(2) the average utility remains below and
in the increasing trend

(3) the average utility curve is above MU

(4) the average utility curve is downward

(24)

When marginal utility is negative, total
utility can be increased

(1) by reducing MU
(2) by increasing MU
(3) by keeping MU constant
not in any of the above methods

4)

For a necessary good, if MU is zero, the
consumer would '

(1) continue to consume the commodity

(2) stop consumihg» the commodity

(3) consume the commodity in infinite
quantity

(4) None of the above

When total utility is maximum, marginal
utility is

When MU.is at maximum

sloping

What is substitution effect ?

(1) Substitute one commodity for another
for consumption

(2) Increase in demand for the cheaper
commodity

(3) Substitution of a commodity cheaper in
price for a higher price commodity .

(4) None of the above

101.

102.

103.

104.

105.

LJ/805

A consumer- purchased 6 units of a
commodity at price Rs. 81. When the price of
that commodity falls down to Rs. 6, he has
purchased 8 units. What is the elasticity of
demand for the commodity ?

(1) Comparatively elastic

(2) Comparatively inelastic

(8) Perfectly elastic

(4) Elasticity is unity

This is called the ‘Law of Variable

Proportions’ :

(1} Some variables éhanges keeping others
constant in production

(2) All the inputs change with change i
production :

(3) All the factors remain constant and
production changes due to technique of
production

(4) All the variables change but there is no .

increase in production

Quantity produced. is a function of

(1) demand
(2) factors
(3) costs

(4) profit

Marginal Product is equal to Average Product
when

MP intersects AP from above

(1)

(2) MP intersects AP from below

(8) Total production is the highest

(4) MPis equal to zero

These factors determine the supply of

commodity to the market by a producer :
(1
(2)
3)
(4)

‘Price of the commodity
Price of substitute commodities

Price of factors of production

All of the above
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106.

107.

108.

109.

110. A monopolist gets profit always because he

The unit profit of a firm under perfect

(26)

Under perfect competition, for a firm, the AR
curve remains

(1) parallel to X’ axis
(2) parallel to Y’ axis
(3) negatively sloped curve
(4) positively sloped curve

The most profitable output for a firm under
perfect competition is attained at this state of
equilibrium :

(1) MR = AR

(2) MR = AR = Price
(3) MR = AR = MC
(4) AR = Price

competition can be measured by

(1) MC—AC
(2) TR —TC
(3) AR — AC
(4) AR — Price

In the short run, a monopoly firm gets
maximum profit at output

(1) MC = AR
(2) MC = MR
(3) AR = Price
(4) MC = Price

produces at this phase of production where

(1) MR > AR
(2) MR < AR
(3) MR > MC
(4) MR = AR

111.

112.

113.

114.

115.

@

LJ/805

Under mo;lopoly in the long run
®
(2)
3
4)

AR is tangent to AC
AR is tangent to MC
MC is tangent to price line

MR = AR

A monopolist discriminates price in two
markets when

(1) there is different elasticity of the MC in

the markets

there is different elasticity of the
demand curve '

(2)

(3)
4)

there is different elasticity of AC curve

in any one of the conditions above

Which is not imperfect competition ?

(1)

Discriminating monopoly

(2)  Duopoly
(3) Oligopoly
(4) Triopoly

Which is not the characterlstlc of Perfect
Competition ?

(1)
(2)
3

Homogeneity of the product
Free entry into the market
Lack of selling cost

(4) A firm is a price maker

In the short period the demand for an'
industry under perfect competition is

(1) Perfectly elastic
Comparatively elastic
(3)

4)

Perfectly inelastic

Horizontal to X’ axis
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116.

117.

118.

119.

120.

(28)
A firm under perfect competition can [121.
influence
(1) Price
(2) Output
"(3) Both price and output
(4) None of the above
Pi‘ice ‘ of an industry under perfect |122.
competition is determined by
(1) interaction of demand and supply
(2) price and MC
(3) AR and MC
(4) price and AR
: 123.
What does this formula indicate ?
g=AY
. Y
(1) Actual rate of growth
(2) Warranted rate of growth
(3). Normal rate of growth-
(4) Take Voff stage growth
Extension of demand means 124.
(1) demand increases with decrease in price
(2) | demand decreases with decrease in
price
(3) demand decreases with increase in price
(4) demand increases with increase in price
125.
What is the slope of a Marshallian demand
curve ?
(1) Positive
(2) Negative
(3) Non-linear
(4) Horizontal

@

*

. LJ/805

Which social accounting statemernit can tell us
the inter-relationship. between specified
industries ? ‘

(1) Input-output table
(2) Balance of payments
(3) N.N.P.

(4) Flow of funds

The difference between G.N.P. and G.D.P. is
equal to ' '

" (1) gross foreign investment
(2) net factor income from abroad .
(3) net exports
net foreign investment

If G.N.P. at market price is Rs. 120 crores,
capital stock of the economy is worth
Rs. 200 crores, depreciation is at the rate of
10 percent per annum, indirect taxes amount
to Rs. 15 crores, calculate the National
Income. (Rs. in crores)

(1) Rs. 105 crores

(2) " Rs. 435 crores

(3) Rs. 85 crores
(4) Rs. 115 crores

Under the regime of gold standard, a country
(1) '

adopts-exchange control

(2) issues inconvertible paper currency
(3)  limits the inflow of gold \
(4) has no control on the domestic¢ supply of

money

" An increase in the quantity of money will not

affect the interest rate if

(1) the demand curve for money is vertical

(2) the demand curve for money is
horizontal

(3) the demand curve for money is
downward sloping to the right

(4) the demand curve for money is upward

sloping to the right



LJ/805

116. HOJPrY Ty Do

117.

(1)
(2)
3)
(4)

(29)

Parddo ToHrdRs

@

3]
RRAL
$8 0o &8 Todrdr

0 28 5%

B0%rY S BOES S8 dForoS wd6 |

(D

()

118.

119.

120.

3)

(4)

G =

(1)

(2)

(3)
4)

&m0y HHow Ope Podd
58 ©Bo% a0 Sgo%o (MC)

Garosd oed (AR) gDJGOf)J Garod
Hgow (MC)

S8 By Garosorad (AR)

AY  omdy 2
Y

>HDE $)8 Tew
FE0BE gD')Q Téw
; - @
e H)Q O

85 ¢d D2 Y
S S

&drod AR ede -

)
@)
(3)
4)

$ S0 Bdrodk DEHIHG
S8 A8 adrody S
G8 2OAB dhrod SiHo
§8 2ONE Bdhrody DS

SrgS DHOOVS ko H¥3p aren doe
Gotod ? ‘

(1)
(2)
3)

4)

Cls‘mégéé» :
mmé&é:ﬁn
05—3)1)0535

&HdSeom

121.

122,

123.

124.

125.

- S$SKHSe Béw

K)gwaéé Za@t‘%:ﬁxo 2ge o Bowogrdy
300H Zon JQoHeS e ooh ‘fg&—?nodf
(1) ¢3)B-4338 sesco HPE |
2) BB BOoHo TR

3) LS =8-Sy (N.N.P)

(4) ddo L&')&S"&'S"é).?

SV w@dir’égg (G.N.P) 0of» Dro
NES &dyde (G.D.P) Dy Hgeegdiw
B8 BHreddw : '

(1) .gmo. BH Dewd

(2) B3R ¥ G838 s*EsPe earodo
(3) J¥E Ahdoedoen

(4) S B3 Deoed

WS 850 drowrddird 8 (GN.P)
8. 120 &%, Jorodd dog Sr. 200 ',
10 =0 B DY
Sanew r. 15 5% eowd wraolrarobo
(B°9s® Sr.en)

(1) &r. 105 &%
(2) &r. 435 '
(3) &r. 85 &
(4) &r. 115 &

wormrdy  (rdored¥sen

I00TH :

(1) DB))ozEo|Serdd wier Tod

2) 1033 Sdrd BDE EBIYW Seridues
D[dood

(3) 2omrdH AHBI DHOWSo 3;3&0&

(4) BRoD (g DR doodm G0

($dg Bwdo bOAT & Joo (Hyrdso

5°%08% &R ‘ ' ,

(1) (Sdg ok HE 33})5 88z oowon

deedos®,  Bo

| aSDdyo
(2) 8%y Gdro Ty  ddSeomr
‘ e o '
(3)  (Sibg ddrod H(E T dbddod HA8
eSO P&
(4) (SHg Gdrodk  HETp  HAJHH

(e Sy -



[€] (30) | - Lses

126 M, does not include - |131. Cost-push inflation occurs due to
1 RBI notes (1) increase in consumption expe‘ndit‘ur:e
(2) ,‘Demand deposits | , (2) increase in the rates of income tax v
(3) Government bonds , (3) increase in wage rates

4) C ] )
) urrency (4) increase in demand

127. The major purpose of legal reserve

. . 132. Who stated that “Money is what ;morieyif
requirement is to

does” ?

(1) control the money supply
(1) Prof Friedman

(2) arantee liquidity to the bank
e 1 . (2) Prof. Fisher

(3) - control interest rates.
i (3) Prof. Robinson

(4) None of the above ‘ ‘
(4) Prof. Walker

128. Bills of exch metimes known as
11is of exchange are somet 133. Reflation may be defined as

(1) near money
(1) inflation deliberately undertaken to

"(2) claims receivable relieve a depression

(3) call money (2) creeping inflation

4 f 1 ' .
(4)  transferable assets (8) inflation in the face of stagnation

129. The stock market deals in (4) None of the above

(1) long-term securities
134. Bond prices and bond yields are
(2) short-term securities
(3) both (1) and (2)

(4) None of the above

(1) not related
(2) inversely related

(8) directly rela'ted

130. According to Friedman, which Vof'thAe following (4) All of the above
is not a key -determinant of demand for S
money ? , : _ ‘

135. The “bull” speculators expect that in future

(1) Expected rate of return on money and the bond prices will

other assets

(2) Division of wealth between human ‘and (1) fall
non-human forms ; " (2) fluctuate
(3) Tota! wezil_lth o o (3) stabilise

4) Precéuﬁiona{?f deI'nhaKndA (4) rise
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136.

137.

138.

139.

140.

(32)

Cambridge equation of exchange differs from
Fisher’s equation as it

(1)

lays emphasis on spending rather than
holding of money

focusses on holding of money rather

(2)
" than spending money
(3). .. measures aggregate income rather than
for transactions purpose
(4) - treats money as a medium of exchange

As the central bank prevents it, derivative
deposits can never be

- (1) highest
(2) least
(3) zero
(4) None of the above

Lewis thesis is based on

- {1) balanced growth theory
" (2) critical minimum effort thesis
(3) ‘Big push’ theory
(4) zero marginal productivity of labour in

over-populated countries

The basic difference between the Harrod —
Domar model and the Neo-classical model is

(1) causes of under-development
(2) nature of factor combination
(8) objective of steady state growth

(4) None of the above

Name the economist kwho first defined the
concept of “Shadow Prices”. ‘

(1) Myrdal

(2) Leibenstein
(3) V.KR.V. Rao
(4) Tinbergen

141.

142.

143.

144.

145.

LJ/B05

.

In Rostow’s theory, the drive to maturity
(1)
(2)
(3)
(4)

comes before the take-off
follows the take-off
initiates the development process

completes the development process

Homogeneous capital, proportional saving
function and a given growth rate in labour
force are the long run concerns of

(1)

Schumpeter’s model

(2) Hansen’s fnodel
(8) Solow’s model
(4) Harrod — Domar model

Prof. Vakil and Bramhananda. model of
development laid emphasis on

(1
(2)
(3)
(4)

service sector
wage goods sector
agricultural sector

capital goods sector

According to whom does the rate of.profit
vary directly with the rate of surplus values
and organic composition of capital ?

(1) Ricardo
(2) Malthus -
(3) Marx

(4) J.S. Mill

- When high rate of inflation is accompanied by

high rate of unemployment, it is called

(1) Hyper inflation

(2) Stagflation
- (3) Creeping inflation
(4) Inflationary gap
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146.

147.

148.

(34)

The technological gap model represents an
extension of the H — O model because it

(1
(2)
3
(4) . any of the above

viewed technology dynamically
did not consider technology

viewed technology statically

Reducing the value of home currency in terms
of foreign currency is called

(1) Currency appreciation
(2) BoP adjustment

(3) Devaluation

(4) Net bpayments

National product at market prices is higher
than national product at factor cost by the
amount of

(1) subsidies
(2) indirect taxes — subsidies
(8) indirect taxes + subsidies

indirect taxes

4)

149.

150.

LJ/805

.

The last stage of development in Marx

analysis is

(1) Capitalism
(2) Socialism

(3) Impeﬁalism
(4) Communism

What is market demand curve ?

Vertical additions of the individual

demand curves

(1

Horizontal additions of the individual
demand curves

2)

(3) Addition of all types of demand in a

market

(4)

Demand for a commodity of a particular
firm in the market
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